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#9849 − t=0.50s
a)

Limited (κ=1.2, δ=0.0,

Ip=230kA)

#6010 − t=0.80s
b)

SND upper (Ip=330kA)

#5650 − t=0.80s
c)

SND lower (Ip=335kA)

#8856 − t=0.29s
d)

DND (Ip=325kA)

#11368 − t=0.65s
e)

Highest current,

Ip=1.06MA

#18548 − t=1.50s
f)

Highest fully ECCD driven

current, Ip=210kA

#6442 − t=0.50s
g)

Pear shape

(Ip=360kA)

#10159 − t=0.01s
h)

Doublet shape

(Ip=115kA)

#19373 − t=0.42s
i)

Highest elongation,

κ=2.80

#8890 − t=0.75s
j)

Highest triangularity,

δ=0.86

#11928 − t=0.67s
k)

Lowest triangularity,

δ=−0.77

#11962 − t=1.00s
l)

Highest squareness,

λ=0.5
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X3 system 

(118 GHz)

X2 system

(82.7 GHz)

Launchers #2, 

#3, #5, #6

Launchers 

#1, #4
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0

𝑔(x,v) = 𝑛𝐶

(
𝑚𝐶

2𝜋𝑇𝐶

) 3
2

exp

[
−1

2

(v − u)2

𝑣2𝑡ℎ,𝐶

]
�8�8��(

"���� 𝑣𝑡ℎ,𝐶 =
√
𝑇𝐶/𝑚𝐶 �� ��� ���-	
 ������� +��	���&� u �� ��� �+����� +��	���& �
� 𝑛𝐶 ��� ���-	
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𝑓(𝜆) = 𝐼 exp

[
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2

(𝜆− 𝜆0)
2

Δ𝜆2
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����� 𝐼� 𝜆0 �	
 Δ𝜆 ��� ��� ��
� ����� ����	�
 �� ��� 
������� ������ 𝑓(𝜆)� ������
 �� ��� �����	
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���� �� �����	�

𝜆0 = 𝜆𝑟𝑒𝑓

(
1 +

u ⋅ e𝑙
𝑐

)
Δ𝜆 = 𝜆𝑟𝑒𝑓

𝑣𝑡ℎ,𝐶
𝑐

�������

��� 	
� ��
�������� ��� ��� 	
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�	�� ��� �� ���	��� ��

�

𝑇i[eV] =
𝑚𝐶𝑐

2

𝑒

(
Δ𝜆

𝜆0

)2

u ⋅ e𝑙 =
𝜆0 − 𝜆𝑟𝑒𝑓

𝜆0

�������

�� �	�� ��� ����� �����	
�� ��� 	���������� �
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𝐼[m−3s−1] =
1

4𝜋

∑
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𝑛𝑍(𝑥)𝑛𝑏,𝑖⟨𝜎𝑣⟩𝜆,𝑖(𝑇e, 𝑛e) �����"�
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������� ����� � ��� ���
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��� ������������ �� ���  ����"��! 
���!��
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��� $�� ��������� � ����!� ��	��� %𝑛 = 8, 𝑙 = −7, ..., 7& ��� %𝑛 = 7, 𝑙 = −6, ..., 6& ����� ���� ���

��(𝑛 = 8 → 7) ���� �������� �� � ���
��' �����
���� ���� ��� ��� � ��!�� �������� � ���� � ���
() ����"�� �����*�����
��� ������������

��� �����
��� ��������� ��
���� �� ��� 
�
������� � ���� ��� ��	�� %𝑛, 𝑙& ��� ����� ������	�
���������� 
������������� +� ��� ��� 
�
�������� ��� ��,������ �� ��� �������! ������ ��	��������
%��� ��� �������� ��
��� �'���������& �  ��� ����������� �������	� ����� ��� �� 
�����
��� ���������
�� ����� ��� ����� �
�������
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����� ����������� ���������� ��� ������ �� 
������ �� ���
���� ��'��! � ������
$�� ��������� ��	���� ���� ���� ��� ��	��� ��� ��" 
�
������ �� ����� ����������� "��!��� �� . //0 �
���������  �� �����������! ���
���� ��'��!  �� � !�	�� ������ ����!� ��	�� �� ��
����� %��� -�!� /�(&�
-�� ��
���� �
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������� 𝑛 > 5 ��� �� ���������� ���
������ ��'��� ���� ��
���� ���� ���

�������� ���������� ���"��� 𝑛 = 8 → 7 ��� 
������� �� ���� ��� �����	�� ���� "��� �� ���
����
� � �����
��� "��� �� ��������� �

����� �
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2���� ���������� � ���
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��������
�� �������� +�+3 ./40 ���

��	��� ��� ������	� ��������  �� ���� � ��� () �����������  �� !�	�� 
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𝜆𝑀 =
1

𝐼

∑
𝑖

𝜆𝑖𝐼𝑖 Δ𝜆2
𝑀 =

1

𝐼

∑
𝑖

(𝜆𝑖 − 𝜆0)
2𝐼𝑖 �������
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 �
�
��	��� �𝑇i = 0÷ 1 �� � 𝑛e = 0.2÷ 8×1019 m−3� 𝐵𝜙 = 1.4 !� 𝑍eff = 2��
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�
��	���� 5290.54 < 𝜆𝑀 < 5290.61 & 
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Δ𝜆𝑍𝑒𝑒𝑚𝑎𝑛 = 4.7× 10−9𝜆2
0𝐵 [𝑇 ] �������
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 ��� ���(𝑛 = 8 → 7) �
������
� 	��	������ �� ���� ���� �

 𝐵𝜙 = 1.4 ��
𝑛e = 1×1019 m−3� 𝑇i = 300 ��� 𝑍eff = 2 

����������� 	��
 � �+5 ��� �� 
�� �� �� � �������� ���� �� ≈ 1.5 �� �
� ������� ���������� ��
�
� ���(𝑛 = 8 → 7) ���� �� ��	�� �
�� ��� � �� ��!"�

�� ����� �� ���#��� �
��� �$���� 	��
 %�##��� ����������� 	� �������� �
� ���� �� 𝑇i = 50 ���
�� �
�� Δ𝜆𝐷𝑜𝑝𝑝𝑙𝑒𝑟 = 0.83 �� �
� �&�&����'� �$��� �� %�##���� (����� ��� )���* ���������� ���
�� 	������ ��+

Δ𝜆 ≲
√

Δ𝜆2
𝐷𝑜𝑝𝑝𝑙𝑒𝑟 + Δ𝜆2

𝑍𝑒𝑒𝑚𝑎𝑛 + Δ𝜆2
𝑆𝑡𝑎𝑟𝑘 = 0.86 � ,�� � -
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�
����� �� ��������� ��������� �
�� ��� ����� �� #�������� �� ���� ��*��2 �� &������ �
���� ���
����
�������������� �
�� ���&��� �� �� ��
�������� �� ��� ���� �� �
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� '������2 ����&������ ����� ����� �� ���
� 	��
 �
���#����� #������� �� �
� ��&���� ����� 1�	�'��� �
� ��� �2��5������ �� �������� ���� #��6����
�
�� �$��� �� ����� �� ���
� #��#�����&��� �� �
� �������� ����� �� �
� �������� �� �
� ������� �����
�� ������� �
�� ��� �2�� #������ �
� ���������� ���� 	
��
 �� ����� �
������ ��� #������ ���&�� �
�
�������� ���� ���� ������ �
� �������� ��4�  �"� �� ���7� ��. � �������� ����� 	��
 �
� �2#����
𝜏 ∼ 1 ��� � C5+ ���������� ��� ��*�� ���� �
�� ��� ��&��� �� �
��� �� #�����#��� ����&������� ��
#������� �������� ��&�� �� �$������
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	(��%& 	1(�2%&	)� �(��	)� 3�4 2.4÷ 2.84 2.5÷ 3.0
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���� '$	���%& 6�'$	�'��) '$	�����	�	�' �' �	1(��	6� 7�	 9�# %)6  -, '.'�	�' %�	 	1(�$$	6 8���
�:	�).!7(�)	� '$	�����	�	� #+-;���<� �/��%& &	)��� ���� �0 %$	��(�	 /=��� %� ��'� ��6	�0 /=�
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��
��� �� ��� ��	� �� ��� ����� ��� �	 �� �������	 �� �������� ������ ����������
���� ������ 	���� � � �� � !� ��� ������������ �	 ���������� "�#$�

%������ �������� ������������ �� ��� ����&� 	����� ����	 ���� ��� �' ��������	 
��� �������
�������	 (≈ 500 ��) �������� �* ������ �������� ������������� 
��� ��� ����+

H0
𝑏𝑒𝑎𝑚 + 𝐷+

𝑝𝑙𝑎𝑠𝑚𝑎 → 𝐻+
𝑏𝑒𝑎𝑚 + 𝐷0

𝑝𝑙𝑎𝑠𝑚𝑎 (��,��)

-�� �.��� �� ���	� ���� �������	 �	 �� ������� ��� �' ���		���� �� ��� ��
�� ��������* ����
������� ���	 �.���	 ��� ���	������� �� ��� �������* ���	��*� �� ��� ���� ���	��* �	 	����/�����*
������ ���� ��� ���� ���		 	������ �� ��* ��	� ������	� ��� ������ ��	�������� -�� ���� ��������
�* ��� -�� 012� ��	 ���� ���������� "�3$ 	��
��� ����� �� ��� �������� ���	� ��� ���� ���
��	� ������� ����������	 ��&� ���������� ���	����	 ��� � 	������ ��	��������� ���� �	 #45 �� ���
���� ���/��� 6�
�&��� 	���� �.����&� ���		 	������	 ������	� ������* 
��� ��� ������� �����
�����* (# �����	 �� ��������� ��� ��� ����� ��� ���� �4 
�� ��� �44 ��) ���	 �.��� 	����� ��
	����� 1��������� ��� ���� ������������ �� ��� ���	���� �����	��* ����	 �� �� �&���	�������� ��
��� �������* ���	��* �� ��� ����� �� �45 "�#$�

������� ���� 	�
��
�
��

7�� ��� ������� &����	 �� 012� ���������	� ��� ��8������ ��
�� �	 ����� ������� �� !4 
9�
:��* � �������� �� ���	 ��
�� �	 /����* ��	����� �* ��� ���	��� %� �&�������� �� ��� �����* ��		�	
�� ��� ���� �� � ���
������ ���	�� (������� ��������	 ��� ���������) 	��
	 ���� ��� ��
�� �	
��	����� ���������* �* ��� ��������	 "�3� �#$� 
��� ���* �45 �� ��� ��
�� ��	����� �* ��� ���	�
7����������� ���	������� ��� ���* �*��� �� #45� ��� �&����� ��
�� ����&���� �* ��� 012� �� ���	
�	 �� ��� ����� �� � 
9� -��	 �	 ���� �4 �� �44 ����	 ��
�� ���� ��� ��������;��� �������������
��
�� (���� ��� ��
�� ��������� ���
��� ���	 ��� ��������	 �* �����	���	 ��� �� 𝑇e ∕= 𝑇i) 
����� ��
-��� �	 ��� ���� ���� 	����� ��� ��� ��� 	�����	� <����������� &���/������	 �� ���	 
��� ���&����
�* ��� 1=% 𝑇i ���	�������	 ������ ���� ���������� ���� 	��
�� �� ������	� �� ��� �.����&� ���
����������� ��� �� ��� ���� ��
�� ����	����� 
��� ����
 �45 �� 𝑇i "�3$�

������� ������

-�� ������������ �� ��� ���������� 	���� �� ��� ���	�� ��* ����&� ���� �
� ��.����� ���� ����;
���	�	+

; 1������ ��������	 ��8����� 
��� � /���� �������� ������ 
��� ����>�� �� ��� ���	�� ����� �����
�� ��������� ����� �������� /��� ����	 ��� ��	������� ����� ������� �������� �� ��� ����
���	�� ������� �����	���	� -��	 ������������ �	 ������� ��� �����* ������������� ��8������
��� �	 ����������� �� ��� �������� /��� ���/�������� (���� 𝐵𝜙 ⋅ 𝐼p ���������)� -�� �.��� ��
���	 ������ �	 &�	���� �� ����	����	 �� ��� ����� �� ��� ���;��� �����	��� ���� 𝜏𝑖𝑖� 𝜏𝑖𝑖 ≈ 1÷2 �	
�� -�� ���	�� �����

; % ���� �� ��� ��	� �������	 �� ��� ����� �	 ���* ��� ����>�	 �� ��� ���	��� ��* �� �� �������
��� �����	� ����� �����	� �� ����� ������ 	����� ������� ������� ������	 �� �&����� ������ ���
�������� -��	 ��� ������� �	 �������� �* � ������ ������� ?�
��� �� ��� ���
������ ���	���
���	��� � 𝑗×𝐵 ������ "#@$� -��	 �.���	 �������* ��� ���	��� ��� ������	 �� ��� ���������
�� 𝐼p� ��&��� �� ���������� �� ��
��� ������ ������� ��� �� ������� ���� ��8������ ��� ��
���
��� ��� ��� ������� ������� ���� ��8�������
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�� ���� ��� �������� ���������� �	��� ��� �� ���� �	�� ��� �

Δ𝑢𝜙[m/s] ≈
√
𝑚𝑝𝐸𝑖[eV](𝜀𝑖𝐼𝑏,𝑖[𝐴])2

2𝑒

sin𝛼

𝑀
Δ𝑡 !�"#"�$

����� 𝑚𝑝 ��� 𝑀 ��� ��� ������ ���� ��� ��� ����
 �
���� ���� 	� %
& 𝐸𝑖� 𝐼𝑏,𝑖 ��� 𝜀𝑖 ��� ���
����
'� ��� ���	(�
��� ������
 ������� ��� 	�� �������� �����	�� �� ��� 	)�� ���� ���������& 𝛼 	�
��� ���� 	�*���	�� ��

�" +�� ��� �,���
��' �	�����
�� �� 
�� ��� �� �	
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�� ��
' � �����	�� �� ��� 	�*����� ����� 	� ���������
���
	�
 ���� �/0 �� 𝑛e,av = 1×1019 m−3 �� 1/0 �� 𝑛e,av = 6×1019 m−3" ����	���	�
 � ������	��
�
���� �	�� ������ 	����	�' ��
'� ��� ���	����� ���� 	������ �����	�� 	� ���	�	(� ��� �� ���
����� �� ��� �'�	��
 �������	��' �� ����	��
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-�3 𝑛e,av 𝐸0 𝐸0/2 𝐸0/3 𝐸0/16 -���


�#41� 4×1019 m−3 /"�1 /"41 /"�4 /"/� /"#/ %�2�
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��� ��
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�	����� �8��� �� �������� ��������� ��������	�� ��� �����(��"
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[
1

2𝑟
+

2𝑑𝑞

𝑞𝑑𝑟
+
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 � ����� ������	 �� ������� ����� �� ��������
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� ������ �� �
�� ������ ������� �� ������ ����������� ������� �� ������	 ��� �����������
 ��
���� �� ���������� �
����� � ���� ��� ��� ���� ����������� �� �
� ������� ������	 �� ��!� �	��"���	

�� 𝑇e ≈ 100 eV ��� 𝑛e ∼ 1 × 1018 �−3
 ������� ������	 �� 𝑛𝑛 ∼ 1 × 1018 �−3 ��	 �� ������ #�
�
�� ������
 �
� "
���� ��"
���� ���"����� ������� �������� ��� ���� �������� ���� "���� �
� ����
�� ������ ���� �
�� ��"��� �
� ������ ���
 �
��� ��������� �
�� �$�"� ���������� � ���� ���
�������� �
�� "�� �� ��������� ���

S𝑛0 = −𝑛𝑚𝑛0⟨𝜎𝑢⟩𝑐𝑥u %��&�'(

�
��� 𝑛0 �� �
� ������� ������	 ��� ⟨𝜎𝑢⟩𝑐𝑥 �� �
� ����� �$�"�� � "���� ��"���� �� �) ���"����
������� � 
�� ��� %���������( ��� � "��� �������� �
� ���� �$�"� �� ��"�� ��� ����� �� *���
�
�� �
� ������ �������� ��"���� ����� �� �
� � �����  ���"��	 �� ������� ����������� +���� �
�
�$�"� �� ������� ����
 ������ �������� �� ������ %��"���	( �� �
� ������� ����������  ���"��	
 ��
� �����"��� ≈ 1/(𝑛0⟨𝜎𝑢⟩𝑐𝑥)� ,������  ���"����� �� �
� ������ �����
��	 ��� ��������	 ��-"��� ��
������� ��� ��� ����� "��������� �� �� ���� �� �
� ���������	 ������
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���������� �� �
� �������" "����������� �
�� "�� �� ������� �� � ������ ���"
����
 �$�"���� �
�
����������� ��� �
� "��������� ���������� �� �
� ������� +���� "������ "���������
 �
� �������"
�������	 �� ������ 2�� �����"�� ��	 ����� �� ��� ��"����"� �� �� � ������ �� �������" ��������
./0 ����� �""�� �� �� �� 2�� �����"�� "
���"����*�� �	 �������� 𝑞 = 𝑚/𝑛 ��� �
������� 
� � �
�� �� �������"��	 ���"����� �	 �
� �������� ��� �������� ������� 𝑚 ��� 𝑛� 0�� �� �
� ��
��"��
������ ���������
 ������	 ��� ����������� ������� ��� 2������� ������ �
� �������" ������
 �� �
�
�������" ������������ �� �������� �� 3��"���� �	"������ %3�3( �� 4��� )15�	 %4)5( ��������

�� ��2�"������	 �������������

.������" ������������� "�� ��������� �
����
 �
� ������ ���
 � �
���  ���"��	 𝑢𝑀𝐻𝐷� 4��"�
�
��� ������������� ��� ���� �������
 ���	 ����������� ��������"���� �� �
� �������" ���� ��
�������
 �� u𝑀𝐻𝐷 ⋅ B = 0� �
�� �������	��� ���������� �� �������" ���� ���*�� �� �
� ���"����
2��� ����� �� � �������" ������������ �������� ���
 �
� ���"���� ����������"  ���"��	 �� �
�
��"������� ������ ���������

u𝑀𝐻𝐷 = u + u∗𝑒. %��6�'(
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� �
���  ���"��	 ������� �������	 �� �
� ���������� �� �
� ������
��"������� ��� �� �
� ������ ������ 89;
99:� #� �������
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� �������" ������� ��� �������� ���
��
�
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 �
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2𝜋𝑓𝑀𝐻𝐷 = 𝜔𝑀𝐻𝐷 = k ⋅ u𝑀𝐻𝐷 �������

���	� k = −𝑚
𝑟
e𝜃 + 𝑛

𝑅
e𝜙 �� ��� ���� ���
�	 �� ��� ����� 𝑘 ⋅ 𝐵 = 0 �� ��� 𝑞 = 𝑟𝐵𝜙/𝑅𝐵𝜃 = 𝑚/𝑛

	�������  �! ��	����� "��� ���� ��#������ �� 𝑘� ��� $������� ��	������ �� $	�$�%����� �� ��� ���
�����%����� �	��� ��	������� &�� 	�������  ��� �	��������� �	� ����
�	
� ��
��
���� ��	 ���� ���
�
���	��� �𝑗 = 𝑖, 𝑒� ���

2𝜋𝑓𝑗 = 𝜔𝑗 = k ⋅ u𝑗 = k ⋅ (u𝐸×𝐵 + u∗𝑗) = 𝜔u𝐸×𝐵
+ 𝜔∗𝑗 �������

���	� u𝐸×𝐵 = E×B
𝐵2 �� ��� 𝐸 × 𝐵 �	��� ��
����� ��� 𝑢∗𝑗 = B×∇𝑝

𝑞𝑗𝑛𝑗
�� ��� �����%����� �	��� ��
�����

�𝑞𝑗 > 0 ��	 ���� ��� 𝑞 < 0 ��	 �
���	����� '� �� ��$�	���� �� ���$�	� ��� �!$�	������
 (�)
�	������� ���� ��� ��� �	 �
���	�� �	�������� *���
�� ��	� ��

����% ��� ������	%� �����	��� �� )'''+
)� 𝑓𝑀𝐻𝐷 ≈ 𝑓 ∗𝑖 ��� �����	�� ,-./� ���
� �� &01&2* �!$�	������
 �
��	������� �	� ����������
���� 𝑓𝑀𝐻𝐷 ≈ 𝑓𝑒 ,34/� &�� ��������� �� &56 7+���� ��� 
��� $	�
�����	� ���	����� �� ,-�/ ��	
��� ���� �� �������� $	���	��	 ����

������� ���������% ���� ���� ��
������� �	� ���$���

� ����
��� ��� �����%����� ��
������

'� ��� ���� �� 𝐵𝜙 ≫ 𝐵𝜃 ��� $	�$�%����� ��	������ 
������ �$$����� �� e𝜃 ��� �� �
�����

𝜔𝑖 = −𝑚
𝑟
𝑢𝜃 +

𝑛

𝑅
𝑢𝜙 =

𝑛

𝑅𝐵𝜃
(𝐵𝜃𝑢𝜙 − 𝐵𝜙𝑢𝜃) �����4�

𝜔𝑒 =
𝑛

𝑅𝐵𝜃
𝐸𝑟 − 𝑛

𝑅𝐵𝜃

∇𝑝𝑒
𝑛e𝑞𝑒
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𝐸𝑟 =
∇𝑝𝑖
𝑛i𝑞𝑖𝑍𝑖

+ (𝐵𝜃𝑢𝜙 − 𝐵𝜙𝑢𝜃) �����3�
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	���� ���
���� ���� 𝐵𝜙 ±1.44 �
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 ������
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�� �����
�� ���	��
� ���� �67% ���3  89" �����
�� ��� �.�
���� .���� ��
	��
��
� ����		�� �.�
��� ��������� �����
���
�� ��
� �����
�� �	 
��	�.� ��� ��
���� �
 ������

����		�� �
�����3 �� ����
���� �
 ������
 )�
��� ���
����
������ 	� ��� �	
	���� 
	����	
 �
 ������� -:�	�� ��.� ���
 
��	
��� �
 ������

�
 ;�'<3 ����� 	
 �����
���
�� ��
�	
��� ���� ���  89"%� ����
	����� 2�
� �� 
�.��� ���
�
�
����� �����
��3 ���	 �����
�=�� �
 >��� ��!�

: + ��
�� �	
	���� 
	����	
 �� 	���
.�� ��� �	 '% *�0�� �
 ��� ��
����	
 	��	���� �	 ��� ������
��

�
� ������
	
 ������
���� �
��� ��
����	
�� ��� �	
	���� 
	����	
 �
	��� 
�.�
��� 
��
��
������
������ ��	
 
�.�
��� 	� ��� ������ ��

�
� ��
����	
�

: 1
���� ��� ����		�� �
.�
��	
 
�����3 ��� 
	����	
 �
	��� �� ?�� 	
3 �	
 ���� 𝐼p �𝑞𝑒 ≲ 4�3
�	��	��

: @������ ��� �
.�
��	
 
�����3 ��� 
	����	
 �
	��� ���
����� ���
	�������� ��
��
�� �	��
��
��� �����

: ��� ���� 
	����	
 ������
�� �� ��������.� .�
����� ������ ����������
�� ;)A<� �� ����� �
�
�	������ �
 ��� ��
����	
 	� ������ ��

�
��

������ �����	�
 �
� ���

��� ���
����� 	
 ��� ���������	 
	��	�	�� 
��������



���� ������	�
� ��
����
 
������	 �
���
�� � 
����	� ��

0 0.2 0.4 0.6 0.8 1

−50

−40

−30

−20

−10

0

q
e
=8.8

q
e
=6.0

q
e
=4.2

q
e
=3.4

q
e
=2.9

ω
φ (

k
H

z
)

ρ
ψ

inversion radiusa)

TCV 27502
TCV 27098
TCV 27094
TCV 27494
TCV 27095

0 0.2 0.4 0.6 0.8 1

−10

0

10

20

30

40

50

q
e
=7.7

q
e
=6.0

q
e
=4.5

q
e
=3.2

q
e
=2.6

ω
φ (

k
H

z
)

ρ
ψ

inversion
  radius 

b) TCV 27488
TCV 27484
TCV 27483
TCV 27477
TCV 27478

������ ��	
 �������� ��	
��� ����
��� ������� ��� � ���
��
� �� ������� ���
���	�� ��� ��� �������� ��� ��� ��	�����
������ 

������ ��������� ������ �� ��� 
�
���� 

����� ����
������ ����� 

��� �� � 

��
 �� �� ���
���� ! ���	�����
 ����
������" �#����������	 �� ��� ���������� ��	��� 𝜌𝜓 > 0.85� ��� ��#��
�
�������� �� ��
���� �����#������� �� ��� �������� ��������� ����
� ��� ��
������ ���� ������ 

������

��������	 
�� ���
���� ������
��
 ��
� ������
���

�� ���
�� ������
��
 �
�� ����� ���� ��
�
���
�� ��� �
 ����� 
� �� 
��
���� ��� �� 
�� ����� �� 
�� ��� �����	��
�� ������
�� ���
 
�
��
��� �

�
����� �������� 
� �
 
�� 
���� ���
�� ��
�
��� ��	���� ����� 
��
� �����
���
� �����	��
�� �� 
���

� ���� ����
�� 
� ���

��� 	������
� ��� ������� � ��� ��	��	���� ���
����
��� �� 
�� �����
��
������� �!��
����

"� 
�� ��
�
 �� 
��
� ��
����
���
� � 
�����	 ��� ��� 
�� ��#���� ��
�
��� ���
�� ���
� 
� 
��
�����
��� �����
� ��
 �����
�� $�%&� �����
�'��	 
�� ���� �� 
�� ��� ����	� ���
��
 �
����	� 𝑇i�
��� 
�� 
��
��
� �(��
 �
����	� 𝐼p�)

𝑢𝜙,��� [*�+
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� ���� �� ��� 	������� �����	��� �����	 𝜌inv�
����� ��� �������� ������ �	 ������� ������� ��������� � 	��
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 ≈ 5 �
�	 �� ���
���	
� ����� )	 ��� �� 	��� �� *��� &�+ ��� &�,� ��� ����� �
 �������� �� ���	 ������ ������	
��	��	����� �� ���	
� ����
����	 -𝐼p� 𝑛e,av.� ���	 �������� �	 �
��� ��
����� �� ��� �������

���������� ��� 	����	�	 	�
� 	��� �
 
������� �� 
�
����
 	���� �	 
�� ��	����� � 	�����
����������� ���� ��� ������� ��������	 ����������� ��� ���� ������ �	 � ��
���� ������ �	 ���
������� ���	
� ��������	 ���� ��� /����� 0 1���� �� ��� ������� �������� ��� 
�
����

�������	� ��� ����������� ������� ���� ���	
� �������� ��� /01 2��	 �	 ������ �� �� ��
�
������� ���������� �� ��� 	�����

*�� ��� ����	� ����		���� 	�
��� 
�����	 -𝑞𝑒 = 2.4. ��� 	������� ��
������ ������ ����
��		�	 �

�3�� ���� �
 ��� ���	
� ����
� ��� ���� ��� �����
������ ��� ���������� ������	 ������ 	�������
���������� ��� 
��� �		������� ���� ��� 	������� ��	�����	 �� ��� 	��
��� 𝑞 = 1� ��� ��	 ������
�����	��� ��� 	����� ����		 	������ �����
����	�

��� ������	� 
��	���� 	�� 
	��	� 
�
��
�� �
��

$� ���	 	������ �� ���� ��� ��������� �� ��� ���	
� �������� �������� 𝑢𝜃� ��� 
��	���
��� �
 𝑢𝜃
�	 
��� ����������� �	 ��� �������� 2�� �	 ��������� 	
���� 𝑢𝜃 �	 	������� ��
��� �� 
�������
��
���� ��� 
������� ���� ������� ��������	� 	� ���� �����	 ���	� �� ������		���� ����������	 -+"4
�
�	 
�� �56. ��� �������� -	�� ������� ,.�

��� !��	���� �	 �� ������� �������� �������� �	 ���	� �� ������		���� �����	 �� �����
���� ��
����� 
������	
	� ��		���� ������ �� 
���� ����������� �	 	������� ������� �� ��� ��
� �
 ��������
7������� �������� ��� ��	 	���� ���� ���� ��������� ��� ��	����� �� ���	���� �
 ����	���� �����"
��	 %8'�88(� ����� ���� ������ �� ���� � ������� ����� *��
 ��� ������
����� ����� �
 ����� ��������
�������� 
��	���
���	 ��� ��� ��� ������	���� �� ���� ��� �� ��� ��9����� �� ��������� �� ����"
���� 
��	���
��� ���� ��!����	 �����
��� ���� 	������� 	����� ��� ��������� !������ ����������
����������� ��� ���� ��� �� � ����� �� 
��� �������� ������������	 %4:� 8,� 8&(�

��� 
��	���
���	 ���
��
�� ������ ���	 ���	�	 ��
��	������ ���� �� �56 ���	
�	 �� 1"
����
𝑢𝜃 �	 ������ 
��� ����� ���� 𝑢𝜙� ���� �����	 �
 ��� ����� �
 + �
�	� �
 ��� ����� ��� �� ��� ���������
�
 ������		���� ����������	�

$� ����� &�&� ��� 𝑢𝜃 ������	 
�� ��� 	�
���� ��	������	 �� ��
���� ������������ ���� ����	���
�����	 �
 𝐼p ��� 𝐵𝜙 ��� 	���� �� ����	����� ��� 
��� 
������	 �
 𝑢𝜃� *�� ���	� ��	������	 ���
���	
� ����
����	 ���� ���� 
������ 𝑛e = 4 ×1019 m−3� ∣𝐼p∣ = 300 �) �� '; ��������� *��
���� ��	������	� ��� �������� �������� �	 �������� �� ��� �������� ���
������� ���
� ��������� ����		
��� ������� ������ ��� 	��� �
 𝑢𝜃 �����	�	 ��������� ���� �����	�� �
 𝐵𝜙 	���� �	 �������� 
��


������ �����	�
 �
� ���

��� ���
����� 	
 ��� ���������	 
	��	�	�� 
��������



�� ������� �� �	�
�� �����
�� 
� 	
�
��� ������ ����
�����
��

0.4 0.6 0.8 1
−6

−4

−2

0

2

4

6

ρ
ψ

Poloidal rotation u
θ
 (km/s)

TCV 32126 Ip>0 Bφ>0

TCV 32458 Ip<0 Bφ<0

ρ
inv

→

������ ���	 �������� ����	�
� �
����� �� 
�� ���	��
��� ��
� ����
�	�� 
�
��
 ������ ��
���
�
�� ��	��
 ��
 
��
������
� ��
�	
��� �� 
�
����� ������ 	�

��
 ��� �����
�	 ����� 𝜌inv ≈ 0.5 �� 
���� ���	��
����

��� ���	�
 ���
� ��
��
� �����	�� ��
��� ��� 𝑢𝜃� 𝑢𝜃 = 1
𝐵𝜙

(−𝐸𝑟 + ...)� �� ��� 	�������	��� ���	���

𝑢𝜙 ≈ 2 ���� 	� ��������� ��
����	�� ������� ��� 
��� �� ��� �
����� �
������ 𝑢𝜃 = 0 �� ���
������	
 ��	� 	� �� �� ����
���� � �	��
� ���	�
��	�� 	�� �� �������� ��� �	��	� ��� ����	�	
	�	�� ��
���  !"# �	������	
� ��� ���	�
 
������� �� ��� ����	
�
  !"#$% �	�� 	� 
	�	��� �� ��� ��������
�
���� ���	��� 	��� 𝜌𝜓 > 0.4 ��� ����� ������	
 
��������	���� &�������
���� 	� ��� ��

��	��� 𝑢𝜃
�	

 �� �������
���� �� '��� �� ��� �
���� 
������ �� 	��	��
� 
�������	�� �� ��� ��
	�	�( �� ��	�
�������	�� ��( �� ����� ���� � 
�����	��� �� )*# ��� +*# ������������� �� ���
�	��� 	� ���
��

��	�� ��
�	����
�� ��� ���	�����
 ���	��� � ���� �� 𝑢𝜃 	� ��� �
�
���� �	�������	
 ��	�� �	��
�	�� 	� ���������


�
�
	'�� �� 𝜌𝜓 = 0.95� �� ��� �
���� ����� 	� ����� ��� 
����� 𝑢𝜃 	� 

��� �� '��� �	��	� ��� 
�����
��
����	��	�� ����
�	�� ���� ��� ���� �
�	�� �	���
 ����	����

0 0.2 0.4 0.6 0.8 1

−6

−4

−2

0

2

4

TCV 32126

Radial electric field E
r
 (kV/m)

ρ
ψ

Er

−uθ Bφ
+uφ Bθ
∇p/nZe

������ ��
	 ������ ���	

�	 ���� 	��	���
�� �
�� 
�� 
����� ��
	� �����	� ����
���� �
�� ����
����
�� �
����� ��
𝑢𝜙� 𝑢𝜃 ��� 𝑝𝐶 = 𝑛𝐶𝑇𝐶 ��� !"#"$%�

,�� ����	��
 ��� ��
�	��
 �����	�� ����
�� 
�� �� ���� �� ����
� ��� ���	�
 �
�
��	
 ��
� 𝐸𝑟 ����
��� ���	�
 ���� �� ��� ���
� ��
��
� �����	��� ,�	� 
�

�
��	�� 	� ����� 	� *	�� ��- ��� , . /0102�

������ �����	�
 �
� ���

��� ���
����� 	
 ��� ���������	 
	��	�	�� 
��������



���� �����	

��	� ��

� �
��
 ����
 ��

��� ������ ���	
��	 ���� �� 
���
��� ��
� ������ �� �� ���� �
 ��� ������� ���� ����
����� ����
����� �����
� ���� 
�� 	������	
�� 
���
��� 	�

����
��
� �� 𝑢𝜙 �
� 𝑢𝜃� ��
�	� 
��
� �� 𝑢𝜃 �

���

�� ������ ���	� ����
	� ���
������ �� 𝐵𝜙� ��� ������ �� 𝑢𝜃 	�

����
� ����
�

����� 
� 𝐸𝑟�  
 
��
�
��� ��
�� 
�� ������
�
�	 
��� �
�� ��	���� �����
�

 �
 
�� ���������� �����
�
!�������� 
� ���
 ��� �������� �
 �����
	� �� ���� 
��
����
 �������� "##$%&'� 
�� ���� �� 𝑢𝜃

����	
�� 
��
���
�� �
 � ���� �� 𝐸𝑟� ��� ���
�	�� ()*! �������
��
 �����
�� ����� ����� 
� ����
�
�
� ������ ���
��� �� �������
� ���� ������� ���

�
� ��+�	�

 ,�- �����	�� .��� 	���
�� /0� ���
�	
��� ���� ��� �� ���� ���
��
	�� �� �� 
� � ��	
�� �� /� 1 ������ �
�
�	 ��
�

��� ���� ��
������ �������� 
� �� � ��� �����

 ��� 
�� 
������
	� ����������
 �� ��	������
��
 
���	�� ��
2����� 
��
����
 �������3 
����
������� �
 
���� �(� 4����� �������
��
�� 
� �����
 	��
�� �

	�
�
���

 ������� 
�� 
���� �� �
� �
��	�
��
 �� �����
�� �����
��
�

0 0.2 0.4 0.6 0.8 1

−15

−10

−5

0

5

10

ρ
ψ

a) toroidal rotation (km/s)

meas.

E × B

diam.

0 0.2 0.4 0.6 0.8 1

−2

−1

0

1

2

3

ρ
ψ

b) poloidal rotation (km/s)

TCV 32126  n
eav

= 3.8×10
19

 m
−3

meas.

E × B

diam.

������ ��	
 u𝐸×𝐵 ��� ����������	 
���	����
� 	����������� �� ��� ���
���� 	����� �������� ��� ��� ������

������������ ������
 ��� 	���	 ��
 �� ��� � !" ���
�������
�

5
 �� �

����
�
� 
� 	������ 
�� 
������� �
� �������� 	����
�

� �� ������
�
�	 �
� u𝐸×𝐵
����	�
��� .6��� ��70� 5
 �� 	���� 
��
 
�� u𝐸×𝐵 ����
 ����	�
� �������

� 
�� ���
 ������ ��� ��
� 𝑢𝜙
�
� 𝑢𝜃� ���
� ������ 
��
 ������
�
�	 ����	�
� �� � ��	
�� �� 8 �
 
�� ������ 	���� �����
������� �


�� ���������� �����
 �
� 
��� 
�� ����� 
�� ������
�
�	 ����	�
� �������

� 
�� ���
 	�

����
��

�� 𝑢𝜙 �
� 	�

����
�� ���
��	�

�� 
� 𝑢𝜃�
5
 �����
� �
 ���
 9���
��
 �� 
� 
�� ��	��
��� 
��
 ����� 
� 
��� �
��
� ������ ���	
��	 ���� ���

�9������

��� ���
 ������ 
�� ������ ��
�
��
 
��
 �����	�� ��	� ����
�

��� 𝐸𝑟� 5
 
�� ����
	�
�� �-
��
�� ������� 
�� �
���� �� 9��
� �������� 
� �� ���
� �
 
�� ���

��	�
��
 �� � ����	
 
�������
����

�� 
��
����
 ��	��
����

��� �����	

��	� �

� �
��
 ���


5
 
��� ��	
��
 �� ���� 	������ 
�� 
������� �
� �������� ��
�
��
� ��
� 
�� ������ �� ���
 �����
,��� �����	
�� �� 
��	�����	�� 
������ 1� �

����	�� �
 	���
�� :� ���
 ����� 
������� �
� ��������
,��� ��� ��
����
�� �� �������� ���	
��
 �
� ���	��� ���	�� �
	� 
�� ������ ���	
��	 ���� ������ ��
��������� 5
 �
��� ������ �
 �����
	� �� � ����
 𝐸𝑟 
�� ���
 ����� 
������� �
� �������� ��
�
��
�
�� ��
� �
� �
� ������
� ���	��� ��� �����	
�� �� 
��	�����	�� 
����� ���� �
������� �� ��
��
�
�
� 
������
��� ������� �
� ���
�
�	 	�
�����
��
�

������ �����	�
 �
� ���

��� ���
����� 	
 ��� ���������	 
	��	�	�� 
��������



�� ������� �� �	�
�� �����
�� 
� 	
�
��� ������ ����
�����
��

������	�
����
 ��� ����
�	� ���	�
�� ������ �� 	�� ����
�� �	� �� ���� �� ����� ��� ������ 	��
���	
� ��� ����
��
�� �� 	�� ����� ���� ��� ��� �	�
	� ������
� ����� ��
� 	����	�� �	� ����
	���
�� ��� 
���	��� 
� ����
 �� ���
�	�� ��� ����
�	� ���	�
�� �� 
����
�
�� 	�� �	
� 
��� ����
��� �	���� ����
�	� ���	�
�� ��	����� �� � !"� ��� �	�
	� ������
� ���� ����
��� 	 ���� �� ����#
��� ����
������ �� ��� �	����	�
��
 	� ��� ����� �	�	��� �$�	�
�� ���� ���� ��� �	�� 
�� ����
��
���	�	����� �� 	���� ��
� 	����	�� �� ���� ��	�
 ��� �� ��� �
%� �	�
� 𝑣𝑡ℎ,𝑖/𝑣𝑡ℎ,𝐶 ≈ 0.4
 ���
	����&
�	�
��� �� ��� ��
��
�� �	��
& �������� 
� �'(� 	�� 	������ 
� ���� 	�� ��� ���� ��
��� ���
��)� *����
 
� ��� �	����	�
��
 
����
��+
�� ��
��
�� �	� ���� ���	
���
 ��
�% ��� %����	� ���� ��
��� �
����� ����� �	��
& �',
 '(��
��� ������� 	�� ����� 
� �%��� ��- ��� ��� ���������	�
�� �
���	�%�� ����� �	
� �	�	������

	�� ����	�
.�� 
� ��� ������
�% �	����

��) / 𝑛e,av 𝑇e0𝑇i 𝐼p0𝐵𝜙 𝑍eff $
',12' 3�, 4��04�' +'�40+3��5 3�� 2
'5352 '�( 304�2 '�403��5 3�� '�3

6�� �� �
%��
%�� ��� %����	� ��	����� �

+ 7�����
�� 	�� �	���� ���	�
��� 	�� �
�
�	� �
��
� 	 �
8������ �� 5 #�0�
 ��	� 
����	���
�� , #�0� ��� �
%� ������� 	�� ����
�� �
���	�%��� 9��
�� ��	� ��
� �
8�����
	� ���	�
�� 
�
��	���� ��	� ��� �	��� ���	
��� 	����
�% �
������ ��� ������	 -���5 
� �'(� 	�� ���������
��%� 
� ��,��

+ :� ��� 
�������
	�� ��%
�� 0.5 < 𝜌𝜓 < 0.95
 ��� �	���� ����
�	� ���	�
�� ����	��� ���� �
��
��� �����	��
�	� ����
���� �	���
 ��� ���� �
����
�� 	�� 	���
����� ���	��� ��� ����
 ���
�����	��
�	� �	���� ���	�
�� 	���	�� ������	� �	�%�� ��	� �&���
����	� �	����� ��
� �	�
�� ���	��� �� ��� �	������ 	��
�
�� ��	� 
����	��� ��� �	�
	� ��	������ �� �������� 	�� 
�
��� 
������� �������� 
� ��� ������

+ 7�����
�� ����
�	� ���	�
�� 
� ���� ��	� ��� �	����
 �����%�� �	���� �� �	���� ≈ 1 #�0� ��
��	�����

+ ��� �	�
	� ������
� ���� ������� �	����	��� ���� �	�
	� ����� �	�	��� ��
�% �	���� ;�
	�����<
	�� ������
�� ;�
�����< �����	��
�	� �����
�
�� 	%���
 �������
�% ��� ����������� �� ��� �	���+
�	�
��� =����������
 ����� 
� 	 %��� 	%������� ������� ����� �����	��
�	� ����
��
��� 	��
��� 𝐸𝑟 �	����	��� ��
�% ���� �&���
����	� ������� ;�$�	���<�

>�
�� 
� ��� ���� 𝑢𝜃 ����	��� ��	���	��� ���� �
�� ��� �����	��
�	� ����
��
���
 ��� ��%� ��	#
��	����
 	�����%� 	 ������ ������	�
��
 
� ��� ��� ����������� � ���������� ��	� �	� ��	� 	
���� 
� ��� ��
��
�� �
�� �����	� �	��
���� ��	� 	�� ������� 
� ��� ���
����	� ��%
��� ��
� �	� ����
�������� �� �	�� 	� 
��	�� �� ���	��
�% ����
�	� ���	�
�� 
� ��� ��	��	 ��%� 
� 7:::+7 ��5��
=�����
�% ��� ��������� 	���
�� �����
 ��� ��
��
�� ����� �	� 
������� 
� ��� �	�	���� ��������
�	�	���� ��� ������� ;��� �����< 
��
�	�� ��	� ��� �8��� �� ����
�	� ���	�
�� 
� ��� ��	�� ��
	������ ��� ��� ��	�� ��	#� ������%� ��
� 
� ��� 	�������� 
� ��
� ����
�
 �� ����
�� ���� 	������
����	�
�� ��	� ����� �	�� 	 ����
 ��	� �� 
�� ���
� ������ 
� ��� ��	��	 ��%� �15�
 ����� 
��	��
�� ��	��	 ���� �	� �������� ��
���� ����

��� �������� �	
�� ����	��	
� �� �������� ������ �������	

:� ��
� ����
�� �� �
�� ��� ��� ����	�
��� �� � !" ��	��������� 
� ��� 6=" 	�� *=" �
���	��
�� 	������ ��� $����
�� �� ��� �
%
� ����� 	����&
�	�
��
 
��� �� ��
�� �&���� �	� ��� ����
�	� 	��

������ �����	�
 �
� ���

��� ���
����� 	
 ��� ���������	 
	��	�	�� 
��������



���� �������� �	
�� ����	��	
� �� �������� ������ �������	 ��

0 0.2 0.4 0.6 0.8 1
−15

−5

5

15

25

35

45

ρ
ψ

 Toroidal rotation (km/s)

TCV 35963  n
eav

=5×10
19

 m
−3

a)

D neocl.
C neocl.
C meas.

0 0.2 0.4 0.6 0.8 1

−3

−2

−1

0

1

2

3

ρ
ψ

Poloidal rotation (km/s) b)

ρ
inv

→

D neocl.
C neocl.
C meas.

0 0.2 0.4 0.6 0.8 1

−8
−7
−6
−5
−4
−3
−2
−1

0
1

ρ
ψ

Radial electric field E
r
 (kV/m) c)

D neocl.
C neocl.
C meas.

0 0.2 0.4 0.6 0.8 1

−15

−5

5

ρ
ψ

 Toroidal rotation (km/s)

TCV 32126  n
eav

=5×10
19

 m
−3

d)

D neocl.
C neocl.
C meas.

0 0.2 0.4 0.6 0.8 1

−3

−2

−1

0

1

2

3

ρ
ψ

Poloidal rotation (km/s) e)

ρ
inv

→
D neocl.
C neocl.
C meas.

0 0.2 0.4 0.6 0.8 1

−8
−7
−6
−5
−4
−3
−2
−1

0
1

ρ
ψ

Radial electric field E
r
 (kV/m) f)

D neocl.
C neocl.
C meas.

������ ��	
 ������������ 	
�������
 ��
 ��
����� �
� 	������� 
������
�� ��
 �����
��� ���
 ��
 ���
����� �
� ��
�
��
 ��	�
��� ������
���� ���������� �
�� ��	�
���
��� 	
����� �� ��� ����

���� ������� ������
����
���  !"# �𝐼p = −150 $%� 𝑛e,av = 1.5 ×1019 m−3� ���� �����
� �
� ���  &'&# �𝐼p = +320 $%�
𝑛e,av = 3.8×1019 m−3� 
���� �����
�( )�	�
���
��� 	
����� �� ��
��
 *���������� ����� �
 � +' 	��
�

����� �
��� �
� 	������ ��
 ���	�
���
 ��,��
���( -
 ��� ����������
� ��� ��
��
 ��
����� 
������
 ��
��$�
 �
�� ��	�
���
�( .����� �
�	�� ���� ��� 
����� �����
�� ����� ���������� �
�� ��� 
����� ��
��
����
�� �,�����
(

�������� �������	 
� ��	
������ ��	
��	� �	 � ��� 
������� �
 �	�������� �	 ������� �� �������	�
��� �	������

�
�� ���� ������������	� � �	��� �������� �������	 �������
 � �������� �
�������
�� 𝑢𝜙� ���� ��� ��������	��� ���	� �� ����� ����� �
 ������ ���������� �	 ���
 �
���� � !�"�#� ���	��

����
� $% 
�
�� ����	�
���
 ��� ��������� ��
��	�� �� �

���� ��� ���
���� ������	� �����	�
&	 ��� ���
�	�� �� �����	�� ����	��� 
�����
 �
 �����	� '(&� 𝑢𝜙 ������
 𝑢𝜃 )�� ��� ����� ��
	�����

���� �����
* 
� ��� �����
 �� ���	����� �	� ��� ����� 
��� ������������	 �
 �������� ��
����� +��
 ��� 	�� 
� ��� ��
� ��� ���
��
 ���� ���� �������� �������	� ���� ���	 ��� �	���	
��
�������	 �
 ����	�	�� �
 �� �
 �������� ��� &+,-�

+�� +$. /�0 ���� ��
 ��
��	�� �� ���
� ���
 1��
���	� 2	�����	������ ��� �� ��� ��3��
�������
 �� ��� $$4 �������� �� ��� /�0 
�
���� �	�� 
������� /�0 ���
�����	�
 ���� 
��	
��������� ����	� ���
 ���
�
� &	 ����  �5� ��� ���
�����	�
 �� 6�0 �	� /�0 $%-0 ����
 ��� �����
��
������
 �	 ������� ��	��������	 ��� ���
�	�� �� �
���	 ��� �������	 ������ ���	� ��� ������	�
��������� ��� ���
� ��
������
 ��� /�0 
�
��� ��
 �
�� �	 � 7�����

��	�	�8 ��	��������	�
�������	� �	�� " ��� �� 9: ���
�����	�
� ���� ���	���� ���
 �� ������������� 𝜌𝜓 = 0.7 �	 ���
�	
���� 
��� �� ��� ���
��� +�� ����� ��
������
 ����
������ ���� 
������ ���
�� ���������
� 
��

������ �����	�
 �
� ���

��� ���
����� 	
 ��� ���������	 
	��	�	�� 
��������



�� ������� �� �	�
�� �����
�� 
� 	
�
��� ������ ����
�����
��

0.7 0.8 0.9 1 1.1
−45

−40

−35

−30

−25

−20

−15

−10

−5

0

R [m]

a) toroidal rotation [km/s]

LFSHFS

TCV 27094
TCV 27098
TCV 27095

−1 −0.5 0 0.5 1
−45

−40

−35

−30

−25

−20

−15

−10

−5

0

ρ
ψ

b) angular velocity [krad/s]

LFSHFS

������ ��	
 �������� �������	 
���
��� ���	� ��� 
�����	� ���
���� �����	�� �� ��
��	�	� ���� ���
 ��� �	�
��� ������	��� ����� �� ���� ����	������  
��� ������	��� ���!��� ��� ����	 ��� ����� ����������
"��# $%&'()$%&'*)$%&'+, ���� 𝐼p = 170, 200, 320 -.� ��� 
��	���� �/�� ���� �� 𝑅 = 0.89 
�

�������	 
��
�� ������	
 𝐼p = 170, 200, 320 �� �𝑞𝑒 = 6, 4, 2.5�� ��	�	��� 
�����
 
���� ����
���
���� �� 	�� ���
� 
	�	������ 
��
�
�

��� ���	 
��	 
���
 	�� 	������� ��	�	��� 𝑢𝜙 �
 � ����	��� �� 	�� ����� �����
� ����� �
 �  ���
��	�� �� 	�� ���	��� �� ��� !�	���� 	�� "#$ ��� %#$ ���
������	
� ��� �� ��� ����	�� !�
	�� 
��	��	� ��	�&�	�' ������	�� !� 	�� ��&��
��� �����
' �
 ���� ������ ��� !�	� 	�� ��!���� ���
��	!���� ���
������	
� � 
	��� 
���� �� 𝑢𝜙 �
 
��
��	 �� 	�� ���	��� �� ��� ������	�� � 
	��� 
�
����	�� �� 	�� ��	�	���� ���
 �
����	�� �
 �������' !�	 ������
 ���	�' ���� ���
������ 
	�� �� ���� &�����	� 𝜔𝜙 = 𝑢𝜙/𝑅 (����)
* 	��	' �� 	�� �� �� !��� �

��+���	���' �
 ���
	��	 ��
�� ��	�� 
������
� ,� �� �	 
��	' 𝜔𝜙 �
 
���� �
 � ����	��� �� 𝜌𝜓 �𝜌𝜓 < 0 ������	�
 𝑅 < 𝑅𝑎𝑥𝑖𝑠�
��� �	 �

���
 ������� 	��	 	�� ��!���� 
��
�� �
 ��	�	�� ���� 
����� 	��� 	�� ��	!����' !� ��
�����	 	��	 �	 ��� �����
 ��� ����� - ����)
' 	��	 �
 .-/012 �� 𝜔𝜙�

�
 
���� �� ���
	�� 3' 	�� ��!����/��	!���� �
����	�� �� 	������� ��	�	��� ���
�
 ��	������ �

�� ����	 �� 	�� 
��
���� �� � ���	� 
������� ��	�	���� #��� 	�� ������� � �� 𝑢𝜙 ��� 𝑢𝜃 ���
���� ��
	�� "#$ ���
����' 4�� 3�0�. ��� !� �
�� 	� �����
	���	' �� 	�� �����
��

�!�� 5��� �

��+���	���'
	�� 
�����
 �� 𝑢𝜙 ��� 𝑢𝜃 �� 	�� %#$ ���
����' ��� ���
���
�� ��	� �+
������	�� �!
��&�	���
�
6����	���	���' ��	��� � 	�� 78�$19 %#$ 
�
	�� �
 ����� ��� 	��
' 	�� 
�

�!���	� �� �!	����� 
�����!�� 
����	�����
 ���
������	
 �� !�	� %#$ 𝑢𝜙 ��� "#$ 𝑢𝜃 ��
 ��	 ��	 ���
��� �
 � ��
	

	�
' �� ��� ���� �� �
	���	� �� 	�� !�
� �� 𝑢𝜃 
�����	�� !� ������

���� 	�����' �����' �
 ��

��' �
 �� 	�� 
��� ����� �� 	��	 ���
�����

,� #� � ��9 �� ���
��� 	�� 𝑢𝜙 ��� 𝑢𝜃 ������ 
�����
 ��� 	�� "#$ �!���' ������
� ��� %#$ ����'

�����
�' 
��		�� �
 ����	��� �� 	�� �������:�� 
������� 5�+' ��� ��
���� � �7; 0<19=� $����
���&�
 ������	� 	�� �����
��

�!�� 5��� ����� 
�����
� ,� 	��
 ��
��
��	�	��� �	 �

���
 	��	 	��
�
����	�� �� 𝜔𝜙 ��� 	��
 ��
���� � ������
�
 ���� 	�� ���	�� ��	����
' ��	� &����
 ≈ 8 ����)

�	 𝜌𝜓 = 0.65' ����� ��� ���� ��	
��� 	�� �����	���	� �� !�	� ���
������	
 �0 ��)
�� � 
������
�
����	�� �
 �!
��&�� �� 𝑢𝜃' 	��	 �� 	�� "#$ �
 �

���� ������

����� ,� 	�� 
��
���� �� 
���

������� 
��
�� 5��' 	�� %#$ 𝑢𝜙 �
 
�����	�� 	� !� ���� 
����� 	��� ��� 	�� "#$� ��� ������

����

�����	��� ��� 𝑢𝜃 ��� !� �� �+��

' 
�

�!�� ��� 	� �� �&���
	���	��� �� 𝑍eff �� 𝑑𝑇𝑖/𝑑𝑟� �
 � 	�
	'

������ �����	�
 �
� ���

��� ���
����� 	
 ��� ���������	 
	��	�	�� 
��������



���� �������� �	
�� ����	��	
� �� �������� ������ �������	 ��

−40

−30

−20

−10

0
b) angular velocity u

Φ
/R [krad/s]

0 0.2 0.4 0.6 0.8
0

1

2

3

4
c) poloidal rotation u

θ
 [km/s]

ρ
ψ

TCV 27098

ρ
inv

→

−40

−30

−20

−10

0
a) toroidal rotation u

Φ
 [km/s]

LFS
HFS

������ ��	
 ���������	 �
 �������
 �������	 �������� �	 ��� ��� �	� ��� ����
�	�� ���� ��� ���������	� �
 �	�
����������
� ���� ������������	� 
�� ��������� ��� � !"#$ %�
����
 �������	 �� ������� 	���
������

&��
�� ���'��( ��� ���� ������ �������	�� ��

 �
 ��� 	���
������
 '�
�� &������ ���'��($ ��� ��������
�	 �	��
�� '�
����) ��	 ����� # *���+�� ����� �� ��� �
 ��� �	������	�) �
 ��� ���������	��� �	������	�
���� ��� ����� ����� �� �	
) ����� ������������	 
�� �����	 �������$

�� �������	 𝑢𝜃 
���	 �� 
 �
���	 �� ��� ����
	�� �� ����

����

 �

��� ��
���� ��	����� ���� ��

��� ���������� ��	���� �� �
��� ��� ����	�����

 ����	�
������

����

	 	���
�� 
	� ���
���� ��	 �����
	��� ���� ����	��� 𝐼p 
�� 𝑛e� ���������� ��
�� �� �� 
!���� �

��
�� ��� �
	��� ��
���

 	��
���� �� �
��� �� ����

����

 �

��� ��� ��"�����
� ���� ��
�������	 ��
���

 
������	��� �� ��� �
	��� 
���

	 ��
������ #����� ��� 	���� 	���	 
��	����
$
���� �� ��
� �

�� ������ 
� 
���	
�� �� %&'� 
�� �
	��� ��������� �� ��� �

��
 ���(��	
����

�� �� �

��
 �
	
����	��

)� �� ����	�
�� �� ��	��� ��
� *+� ,�%�- 
��
��� ��	 �
�� ����� �

��
 ������� ���
	
��
� .,/0�
����� ����	��� ���	��� �� #1�231� 
������	� 
	� �������� ��	 ����	��� 
�� �
�� ��� ��������
�������	��� ��
� �����


�� ��	 �� � 
���	���� �� ����

����

 �����
����� 𝑢𝜙,𝐷 ∼ 𝑢𝜙,𝐶 
�� 𝑢𝜃,𝐷 <
𝑢𝜃,𝐶 ���� 1��� 4�5�� 
 
���	 ���	�� �� 
������	� �� �������� ��	 �����	��� �
�� ��� �67'�� )�
���� ������ ��� 	���� 	���	 
��	����
���� �
� �� �������	�� 
 ���� 	��	�����
���� ��	 ��� ��	���


�

��
 8���

������ �����	�
 �
� ���

��� ���
����� 	
 ��� ���������	 
	��	�	�� 
��������



�� ������� �� �	�
�� �����
�� 
� 	
�
��� ������ ����
�����
��

��� �����	
 ���
	�	�� ��
 ������� 
���	���� �������� �	��

��� ����	
������ 
� �


���� 

����
� ��
�� ��� ��

�� ��� ������ ���� �������� ����� �

 �������
�
���	
���
��� ��� 

����
� �� ��� ��
����
�� 
���
� 
� 𝜌𝜓 > 0.95 �� ��
�� �
 ��

� 
���
����� 
�
��� ���	�� 
� �	

��� ��� �������� ���� �� � ������� 𝑢𝜙 �

��� �	���� 	� �� ��� �
������ 
���
��
� �
	���
� �
�����
� �����
� �
 ���� ��� ������ 

������ ��
�� �
 ��

 ���� �� �

������ 
� ���
�����

���� � ���� 
���� 
���

�� �� ��� ������� �
	���
� �
�����
�� ��� ���� 
������ �
 ��� ���� 
�
�


���� �
����	� �	� �
 !" 
�����
�� #��� ��	�
�� ��
������ �
����� �� ���� 
���
�� ��� ��	�
��
������� �
	�� �� ���������� ���

���� �� ��� ���� 
� ������� �
���	
���
�� #��
� ��� ����
����
�
#��� ��� ������
 $��� ����
�� �
�	�� �� �!%& ���

� ��� 
�������� 
� ��	�
�� ��
���

�
 ����	��� ���� �
��
��	��
�� ��� ������� ����
��	��
� 
� ��� ��	�
�� ������� $𝑛0& �� 
�'	�
���
� '	������ ���� �� ���
����� ��(�	�� �
 ����	
� ��
������ )� *��� 𝑛0 ��� ���� ��������� �

�
��� ������� �
��
���� 
� ��� ���
�� �������� 
��
�������
� 
� ��
�
� +,�-� )� �!%� ��� ��	�
��
��	��
�	� �

��� �� ��� �
����� ������ �� �

� 
������� ��������� �� ����� 
� ��� ./012�3
�!% �
�� +45�46-� 7���� ��� ����
������� �

���� 
� �����

�� ��� ���� �
��� ./012� ����	�����
��� ��	�
�� ������
� �����
	� ���
	����� �

 ��� ���� ��
��� �

������ ���� � ��� ��� ��	�
��
�
����

� ��

�� ��� ������ $��
�3��
�� ��
�3�
�� �����

�3��
�&� )� ��
���	��
� �� ��� �� 	���
�� ��������� �����
���� �

 ��� !89: ��� %89: �����
������ ��� ��	�
�� ������� �

��� �� �� ����
���� ����	����� �
����������� �� 
��������� ��� ����� #��� ����
������� ���
�� �����
��

0.85 0.9 0.95 1 1.05 1.1
10

13

10
14

10
15

10
16

10
17

Neutral deuterium D
0
 density  [m

−3
]

R [m]

Magnetic axis

Last Close 
Flux Surface

������ ��	
� ������ ���	�
� ���
 
���
��� ���� �� ����� �� �
����� �
��
���
 �
����� ��������
� �� ������ 

!�" ���
� ��� �#
 ��
��
� ����#���
 !�" $%&&'� 𝑛e,av ≈ 4×1019 m−3� 𝐼p = +340 ()*

)� ;��� ��4< ��� ������� 
� ��	�
�� ��	��
�	� �������� ����	����� �� ./012�� �� ��
���� �� �
�	����
� 
� ��� ��=

 
���	�� ;

� ��� ��	�
�� ������� #� ��� ����	���� � ��	�
�� �
����
� �

��
���� ���
����� ��� �
�� 
� �
����	� �	� �
 !" #��� ��	�
��� �� 𝐹𝑐𝑥 = −𝑛𝑚𝑢⟨𝜎𝑢⟩𝑐𝑥𝑛0� #��
� 𝑛0

�� ��� ��	�
�� ������� ��� ��� ��� 
���
 '	�������� 
���
 �
 ��� ���� �
� �������� ���� �� ��	��
�	��
�
 ����	��� ��� ������	�� 
� ���� �

��� 
�� ��� ���
 �
�����
�

𝜏𝑐𝑥 =
𝑛𝑚u

𝐹𝑐𝑥
=

1

⟨𝜎𝑢⟩𝑐𝑥𝑛0

$��>�4&

#���� 
��
������ ��� ���� ����
��� �
 �
�� ��� ������� �
����	� 𝑛𝑚u� !
�����
��� ��	�
��
���
���� 
� ��# �%� ���
����
����� 
� ��� ������ �
	���
�� ��� ����
������� ������ ���
����� ���

������ �����	�
 �
� ���

��� ���
����� 	
 ��� ���������	 
	��	�	�� 
��������



���� �����	
���
 ��

�������� ���		 	�����
 �	 �� ��� ��
�� �� ⟨𝜎𝑢⟩𝑐𝑥 ∼ 1× 10−14m−3 ���� ���� ��
�� �
 ��� �
�� �����
�
����� 𝑛𝐷0 ∼ 1 × 1016m−3� 𝜏𝑐𝑥 ∼ 10 �	� ����� �	 �� ��� ��
�� �� ��� ���� 
���
�	��� ����
��	������
 �

 ��	��� ���
 ��� ��
��� ����
��� 
���	��
 ����  ∼ 100 �	!�

𝜏𝑐𝑥 ��	� ��"��	�
�	 ��� ����	���� �
 ����� ��� ����� �
����� ����
��� �� ��� "��	�� �	 ��
#
	����
$ ��� ��
��� ����	����	� �
% ��
�	���&����
 �� ����
���� ��"�%�
� � ���
�� �� �������
 �

��� �
�� �����
� ���� ���
�����% ��	��� �
 � ���&�� ���
�� �� ����
���� �	 ����	�����
 �
 '��� ��((�

ρψ

uφ a) c)b)

ρψ

uφ a) c)b)

������ ��		
 ��������� �	
����

 
� � ������ �������
� �
��� �
����� �
��
��� ��� �
 �
 ���� ��
�� ������
�
�
�
� �� � ��� �
����

 ��
��� ���� ���
�
� 

 �
 
������ ������ �
��
��� ��� ������� �
 ���
����������

 
� ��� ��
���� �
� ���������� ����

� �
 
��
���� �������

�� ��� �
��� �
��
��� �����
�
���
 

 � ���� ����������  
 �

��� ����������! ��� ���� ���
	��� ���
 �
����

 ��
� ��� �"��� 
�
������

 ���� ���� 
�������� #
 ��� �
��! � ������
� �� ������
�� $% �
��
��� ��� �
� ��� ��
���
������ ������%� ��� �
�� ������ �� � 
�� ����������

 
� ��� ������ �
���
�

)��	 	����� ����� ��� �
�� �������
 �	 ��� �

 ���	� �� *��� �	 ���� ��� ������
 ��
+�������
	
�� ��� 
�
	��% �

 "�	����� ����
�������%� '�
��� �����	 �� �����
�� �������
 �
 ��� "���"����� �����

���� &��
 ���	���
 ��� "��	�� ��
+�������
	 ���� 	���
� 
������� ����
�������% �

� ����	��
���%�
���� 
�
	��% �

 �����
� 
�	������	  𝑛e,av > 4 ×1019 m−3� 𝐼p > 300 𝑘𝐴� ���� ����
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 𝑡 = 0.5 � 	� 𝑡 = 1.5 � 	�� ���	��� ����	��� �����	� �� ��
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� �	 ���	��� �����	� ������ Δ𝑢𝜙,𝑐𝑜𝑟𝑒 �	������� ���� 𝑛e,av� ���	� ���� Δ𝑢𝜙,𝑐𝑜𝑟𝑒 ≈ 5 �� Δ𝑢𝜙,𝑐𝑜𝑟𝑒 ≈
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� 𝑛e,av� ���� Δ𝑢𝜙,𝑐𝑜𝑟𝑒 ≈ −7 ��� 𝑛e,av <
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��� ���� ����������� ����	 ��� 
�.������� �� �������	� ��� ��	
����������� �	 ���� �����	� �����	� �	����-�
�

��� 𝑢𝜃 ���������	�� ���� 
��	 ���
�	�
 ���� ��� �������� �	
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𝐼p > 0 �	 !��� "�3 /����� �����	0� %� ��� 
�	���� 𝑢𝜙 ������� �� �����	� �	 ��� ���� �	
 𝑢𝜙(0.85)
�� ��������� ������	�	� �	 𝐸𝑟 ���-�� �������� �	 ��� ���� �	
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��� �������� -��
� �	 ����������
�	 ��� ���
��	� �����	 0.5 < 𝜌𝜓 < 0.8� ����� ��� 𝐸 × 𝐵 �������� �	������� ���� 1 �� 3 ����� ��

������ �����	�
 �
� ���

��� ���
����� 	
 ��� ���������	 
	��	�	�� 
��������



��� ������� �� �	�
�� �����
�� 
� �
������ ������ ����
�����
��

0.4 0.6 0.8 1
−4

−2

0

2

4

6

a) poloidal rotation u
θ
 [km/s]

TCV 33380 I
p
>0 B

φ
 >0

TCV 33384 I
p
>0 B

φ
 >0

ρ
ψ

0 0.2 0.4 0.6 0.8 1

−8

−6

−4

−2

0

2

4

6
b) radial electric field E
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c) radial electric field E
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𝜌𝜓 ≈ 1�
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����� �
  � 	�� �����
���������� ��� �������
 �� ������-.� 	����� � /0�
��
 ������	�
 �� ���	��� 1�2� 	��	 ��
 ���� 	�� 
�%����	 ������� �� �������� ,���� ��
 ����	� ��	
	�� ���� �� 3'����#*���4	�� ,��� �	 	�� "5* �
���

5�� ���
�� ���!������� �� �����	 ���� 	�� ���������� �� 	�� 3'����#*���4	�� ���	�� �	���� ��#
���
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 �� 	��
� �� 	����
�� ��	�	���� ��
�
 ����� 	��	 �	 
��  � �����
���
 !���
 ��� ��� ��
�
����	� �� ����(

𝑢𝜙,𝑒𝑑𝑔𝑒 ≈ 𝑢𝜙,𝑃𝑆 = 2𝑞
𝐵

sign(𝐼p𝐵𝜙)(𝐸𝑟 − 1
𝑒𝑛𝑒

𝑑𝑝𝑖
𝑑𝑟

)[m/s] 67�0�/8
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���������� �� ���
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����	� ��	� 	�� ������ ������� ���(

𝑢𝜙,𝑒𝑑𝑔𝑒[km/s] ≈ 18− 2 ⋅ 𝑛e,av[1019m−3]. 67�0�<8
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��� ������������ 𝜌𝜓 = 0.55�

����� ��� ������������ �������� ��� �������� ����� ���� ���� ����� �� � ��� ���� � ��������
�����!����

"�� ��� ���!������ #��$��� �%!�������� ��� &����������� !���������� ��������& �������� !����' �
���������� �������&� �� (����� ��� #��� �������� )*�� ��

�+ �� 𝑛e,av = 2×1019 m−3' 𝐼p = 250 �,
𝑞𝑒 ≈ ���� -� ���� �������&�' ��� �������� !��.�� �� ������� ������� ������ ��� $���� ����� ������
��� ��� ��$����� �� ������ ������ �� ������ � ����� )𝜌inv ≈ 0.3+� *�� ��&� ������� �������� ��������
𝑢𝜙 ≈ 43 ����' �������� ��� �/��� �� �� � ������ ������ ��� ���� � 0�% Γ𝑝𝑖𝑛𝑐ℎ𝜙 = 𝑉𝜙𝑢𝜙�

(����� ����������� �� � #��� !�������� �����& �� �� ��!�� ��� �%!��������� ���� ��� ���
!��.��� �� 𝑇e' 𝑛e' 𝑇i' � ���&�� � �� � ���������� ���� $����$ ��� � ������� �� 𝜌𝜓 = 0.55� *��
��&����� ������#���� ��� #��� ������������� #� ��� (-123 ����' ��������� ���� �� *��� 4���
���� ��� ����������� $��� ������ ��� ��� ��� ����$ �� ���!��� ��� �#������  ���� �� 𝜒𝜙 ��� 𝑉𝜙
�� �� ���������� ��������� $�� �������� )��� ��������� ��!������ �� ��� ���#����� ���� �� ����
�#������ �� ���������� �����������+� 4� ���������' ��� ����� 𝑉𝜙/𝜒𝜙 ��� ����� #� ��������� ����� ���
!���� ��������� #��$��� �������� ��� ������������� !�������� !�����#������ ��� ������� �����
������� �� ���������� ��� ������ ����������� 5	��6� -� ������ ���� #� ����� ���� ��� ����������� ���
��� ������� &��#�� �/���� $���� ��� ���$� �� �/��� ��� �����!��� �� �������� 5	�
6 ��� �����
#� �� ��!������� �� *�� ��� �� ��� ������ ��$ ��&����� .���� *��� ���!������ ����� ��������� #�
���� �� � .��� �����!� �� ����� $������ ��� ��&������ �� ��� �������� !���� �� ������$ �������
�� $��� �� �#��� �� �� ��� �%!���������

-� ������ �����' �� ��� �#����� �� ������� ��� ����������& ���� ��� ���� � �������� �����!���
𝑉𝜙/𝜒𝜙 = ∇𝑢𝜙/𝑢𝜙' � ������ ���!������ $��� ��� �%!��������� �������7�� &������� �� !����#���

-� "�&� ����' ��� ������ &��$�� ���� �!������ �� ��� ���#����� �����' $���� �� ���! ����� ���
�%!��������� !����� ����������' �� ���$� �� � �������� �� ��� !������� $� �  ����� �������7��
�� ��� ��� (����� ������� "�� ���� ��/����� ���� ��� �������7�� &������� �� �������� ��� #�
���������� )"�&� ���#+' #� ���!����& ��� ����� 𝑅𝑉𝜙/𝜒𝜙 = (Γ𝜙(𝑢

′ = 0, 𝑢 = 0.1)/0.1)/(Γ𝜙(𝑢
′ =

1, 𝑢 = 0)/1)� *�� !�������� ���������� &������� �� ��!������ #��$��� −2 ��� −3' $���� ��� �� #�
���!���� $��� ��� �%!���������  ���� �� ∇𝑢𝜙/𝑢𝜙 ≈ −15�

,�����&� ��� ���������� ���� ��� ������� ��� ��� �/���� ���$� �� �/��� �������� �����!���
)��� �������� �� ��&����� ��� �/��� �� ��� 𝐸 × 𝐵 �����' &��#�� �/����+' �� ���$� ����' �� � *��
���� ��� ����' ��� �������� ��� ���� � 0�% ��� ��� &��� ��&�' ��� ���� �� ��� ���������� � ��7�#��
�������� �� ��� �#��� �� �������� 0�%� 8�$� ��' �� ��� ��� ����� �%!���� ��� �#��� �� ��������
!�����&�

*� ������ ��� ��!������� �� ��� �������� !���� �� ���� !����� !���������' � ��� �� ������
����������� ��� #��� !��������'  �����& ��!������� ��� �������7�� ������� &������� 𝑅/𝐿𝑛e )��
�������7�� ��� ���!������� &������� 𝑅/𝐿𝑇i = 12+ ��� ��� �������� �� ��� ���!������� ����� 𝑇e/𝑇i

)�� 𝑅/𝐿𝑛e = 5+� *�� ��������& �������7�� �������� �������� &������� )����������& 𝑘𝜃𝜌𝑖 = 0.15+ ��
���$� �� ��� #����� &��!�� �� "�&� ���� , �����& �/��� �� �������7�� ������� &������� �� �#��� ��'
$��� ��� !�����& �� 𝑢𝜙 ���������& �����&�� $��� 𝑅/𝐿𝑛e � ��� ������' � $��� ��!������� �� 𝑇e/𝑇i

�� !��������� 9� ��� ����� ����' ��� �������� !���� �!!���� ������� � �� 𝑅/𝐿𝑇i ' $��� 𝑇e/𝑇i ≲ 1'
���� �� �#���� $��� 𝑇e/𝑇i ≫ 1 ��� ���� ��� ������ � ����&� �� ��&� �� ��� ��� ���� � 0�%� *���
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 ����		�� ��	������� ����
������ ��������� �
� ����	��� ���� ��� ���
	� ���
�����
� � �	���
�� �		� �	 �	
��	� ��� ����		�� ������ �
 ����	
 ��������  	��
�� �������� ���
��� �	��� �
 �!"�#$ %&'()� *!� %&'+) �
� ,-.� %/()� ����� ��� �	����	
 ��� �	������� 
�
���	
� �	�0�� 	� ��������� �����
�  ������ 1��� 2
3���	�� �
� ��� ����		�� ��	������� �	
��	����
2
 ���� ���� 	� ������� ��� ���	
� ������� �	�0��� ���� ��� ����� 	� ����		�� ������ 	
 �	����	

��	4��� 2
 ��� �56 ����� ����� �
���
��� �	����	
 �� ���������� ���� ����� 
��	��� ������
��

- �	
��� 	
�������	
� �	��	
 �	 ��� ���
���	� �	
������� �
 ���� �	��� �� ���� �
���� ���
����		�� �
�����	
 ������� ��� �	�	���� �	����	
 ��	4�� ������� 7����
��� 	� �������� 
����� �
 ���
�	 �����
� �������	
� 1������ ��� ������� �
�������	
 ����� �	� ��� ���
���� 	������	
 	� ��� 5"$.
����
	���� ������ ��� ������� ����		�� ����	� �	� �56 #���� �������� ��� 	
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�	 ��� 	
�� ���� �
�	�����	
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	�� ��� ���� �������� ������

2
 ���� ������� �� ���	�� ��� ������� 	� �����4� ��������
��� ���� ���	��� �	 ����� ��� ��	����	
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�����	
 ������
������� �������
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� ��� ����		��� 2
 ��� �	�
��� �����
� �	����	
 ������ 𝑢𝜙 ��	4�� ��
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�
�	��	� �
���� ��� �
�����	
 ������ �	 ���� ��� ������� 	� �	����	
 �� ����	�������� �������
�� 
�
��� �
�����	
 ������ �	����	
 ���� ������� 8�� ��� �	�� 	� �
�����	
 ������ ��� ���	 
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 �	
4����

� ��������
�� ����� !59 ��� ���� �	 �0���:� ��� �
�����	
 ������� ���� ��� ������ 	� � �����
�
	� 𝑢𝜙 ��	4�� %8;)�

5	
�������� �
 ��� �	 �����
� �	����	
 ������ 𝑢𝜙 �
���� 𝜌inv �� 7�� 	� �������� �����
� �
 ��� �	
�����
� �������	
� ���� 	
�������	
� ��������� 
� ��� 4��� 5"$.<8 ���������
�� %+&�/;) ��� ���

�	
4���� ���� ��� �������� 5"$.</� ����
� ����
���� 	� ��� ������
�� ������ ������ ���	����	
�
���� +�& ��	�� ��� �����	
��� 𝑢𝜙 ��	4�� �������� ���� 5"$.</ �
 ������� ������ ���������� ��
𝐼p = 340 �-� =�	4��� �	�����	
� �	 �	�� ������ 	� 𝑛e,av ���	�� ��� ��
���� ������	�� �	� ��� 𝑢𝜙
��������� ��� �	����	
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 �	�	���� �	����	
 ��	4��� �� ��4
� Δ𝑢𝜙,𝑆𝑇 = 𝑢𝜙(0)−𝑢𝜙(𝜌inv)
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 �� 𝜌inv� 
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����	 
�	�������
�� ��� ��		�
� ��	�����
� ���� ���� ���
����
 Δ𝑢𝜙,𝑆𝑇 �� �������� ��	 𝑢𝜙 �	����� �
 ��� ���	�� 
���
������ �� Δ𝑢𝜙,𝑆𝑇 ≈ 5÷ 7 �����
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������ ����������� ��� ���� �������� ���	
� ��  �
��� �� ��� ������!� "�� �������# ���������� ���
�����$����� �������� �
 ��� �������� ��!������ ������ "𝜌inv ≈ 0.5# �� ���������  % � !������
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�� 𝑇e �
� 𝑛e� "�	 ��� �����	 #��
������ 	����� �	����� �	� �!������! $����
�� �! ��� 	�����	������
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�	�! �
� ��	������ ���� ���� 
��� ��� ���
���� 	���

�����
 �
��	�!�
� ��� �	���� %
 ���
����	 ��
�� ��� ���� ���� ��� Δ𝑢𝜙,𝑆𝑇 > 0 �� ��
�	���! ����	��� &����� �
 ��� �� ��		�
� ��	�����
'
�������� ���� � ��	#�� �� ���� ��	� �� � ��	���� �
 ��� ������ ��	��
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����� �	���� ��
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����
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 � ��	���
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�
�	 �� ���� #������
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�� ��	�������	
�	� �
 )*+� �� ��� �!����� � ����	�
����� 	�#��	�� ��	 ��� �����	���
� �� 	������
 
��� *,-. �� �� ��� �	��	 �� /0 ��� 
���� �
 %����
)*+ ������� ��
����� ��	��� �� �� ��� �	��	 �� 𝜏ST ≈ 6 �� �	 ��
�	� 1���	�������� ��	�
� ����
������ 
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 �� 6 ���

2 *���	�
� ���	���
� �
��!��� �� ���
��	��� ��� ���� �� *, ������ ���
�� ���� �����
� ��� ���	�
�
���	����
 ������

������ �����	�
 �
� ���

��� ���
����� 	
 ��� ���������	 
	��	�	�� 
��������



���� �����	
���
� ����
�	� 
�� �	
�����	� ����� ���

����� ����	
 ���
�� ��
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� ������ ��	
����� �
�� ������ 𝑛e,av ≈ 1.4 ×1019 m−3�𝐼p ≈ −260 ��� ��	 ��������� ���������
	����� 	������� �
������ ������ � ������� ��� �����	��� �����	 ��  �!� �"� ��� � ��
� �� ����#
������ ��� 	������� ������ 𝜏ST ��� �����	� �	 ��		�$��% 
�� �� � ���
�	 �� 	� � �������� ���	 �
���� ����	 ��� 	���� �� &��% '%(% 
�� �!���	��� �� 𝜏ST ��	 �$������� $�  ��������� ��� 	�������
������ $�  ���	 �� ��
���"�� )��
���� ��
������ ������� *���� �)��*� ����	�����% +� ��
�� 𝜏ST�
���� �� 
�� ,� �
 ���	 �	 ����
���� ����� ���� -  	� 
�� $� �!������ �� ���	 ��  ����	�
���	
$� ����	����� �� 
� 
������ )��* ��
���"�� ���	��� ��� 𝑞 = 1 	����
� ./(��/�01%

�� )��* ����	����� 	
�� � ��	 
��	�� �� ��� $�	� �� ���#���
��� 
��
�������	 ��� ��� 
���


,2�3#4� ./�/1� �� ����� ��  �!� �"� ��� ��
���"����� �� ��� 
������ �����% 
�� )� $�� 
��	 ����
��� ��� ��� �5�������� ������ �� ��� 
������ 
������ ����
���� ���% 
�� ��	����
� �����
��	 	������ �� ��� ��$���� �����	� $� ��
���	��� ��� ��������  ������
 6��� �� 𝐵𝜙 = 1.2 
�
���� ��� �7�
� �� ����
���� �� 𝑞𝑒� ���
� � ������ 	������� �����	��� �����	% �� � ���	 � 
������
𝐼p = −260 ��� ���� 𝑛e,av ≈ 1.5×1019 m−3 � 𝑞𝑒 = 2.7 ��	 �$������� ���� � 𝑞 = 1 	����
� ��
���� ��
𝜌𝜓 ≈ 0.6%
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 ���� �����	 
� �
� ����� ��	������� �� ��� 	��
�� ���� 
� ��� ��	������ � ���	� 	����
���� ���	�
���� 𝜏𝑆𝑇 ≈ 15 �	 ��	 
������� �1.1 < 𝑡 < 1.5 	 �


�� ����� ��� 
������ ���	��� ����	����� ���6��	 
��
������ ���� 
,2�3#4� ��� �����	�����
�� &��% '%�% 
�� )��* ����	����� ��	 ��
���"�� ���	��� ��� 𝑞 = 1 	����
�� ����
���� �� ��� �����	
$� � �����
�� ����% *����� ��� �!���� ���	 ��� ������ ��
����� �� ��� 
������ ����� ����	����� ��	

��� ���	 !�������� �
�"������
�# ��� ��� �!
�$��	� �������
� 
� 𝐵𝜙 ��� 𝐼p �	�� �� ���	 �%��������	# �
���	�
��	
�
 �
 ������� �������� ������� ���&��

������ 	
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� �
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��� ���
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Shot   Time    P [%]    I [A/W]  P
N

35944 0.400 58.4 -3.23e-3 58.4

������ ��	
 ������� ���	� ��
������� �
����� ��
������
��� �� ��� ��� ���
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�� ��� 
����� ���� ������� 𝑞 = 1 �����
�� �� ��� � !� ��� �� ���	�� 
������ "�� ������	�� ���� �� ��

��� 
� 
������ ����
�����

������ 	
 ����
��� ��� �������� �������� ��������� ������ ���� �
������� ��� ��� 
�����
�� �����
�� ���
��� ��� �������� ������� ��� ������� ����� �������
� �������� ����� ������� �� �����
 ������

������

������ �� ����� ���� �������� ������ ���� �!" #$%&&� ��������� �� ������� ����
� ����� '�' �
��� �������� ��������� ����� �� ����������� (������� 
������ 𝜏ST �� ��� ����� �� ')*'$ �� ���
�	������� 	������ 𝑡 = 1÷ 1.55 �� �� � +���� ���������
 
���� ������� ���� ���� &)) ���

����� ���� �	
��
����� 
����

��� ���� �������� �������� ������������ ���� �	������ ���� ��� ,�( ���� �� !-.()% �����������
/� �������� �
������� ���� ��� !!0 �������� �� !-.()% ���������� �� 
��������� �� ��+����
 ) �
����� ��� ���� ���� ������ 1��� �
������ ������� ���� ��� �������� 	�� �� !!0 ���� �����*
�
������ ��  ) .������ 2� /������� 3.2/4 �� ��� !!0 �������� ��� �������� �5
����� ���� ��
10 ÷ 50 �� 
������ �� ���� ��� ���  ) �
����� ���� ��� ��5���� ������� �
������ ����� 3$' 

�5���� ≈ 65 64� /� ����� �� ������ ��� �5
����� ���� ��  �� ��� ������� ���������� �� ��� �����
�� 𝜏ST ≈ 10 ��� ��� ����
 �� !!0 ��+�������� ��� ���� ��� ��� 	��� �
����7�� ���� ��� ���������
��������

* ��� ��+����� �
������ ����� ��� 	��� ������� �� ���� $' �� ')) 
�5��� 3≈ 13 64�

* ��� ���	�� �� ������� �� �������� �� ���� ��� ��� 	��� ��������� ����  ) �� &� ���� ��
����
���� �� ������ ���������

* �� �������� ��� �
������ ������� ��� ������� �� �������� ���� 	��� ���������
 �5������� �� ����
���� ��+����� �
������ ������� ���� ��� ��*���
 	������ �� !!0 ������� ����������� 	
 #�&
������ 3���� ��&4� ���� ��
���� � ������ ���� �
����� ����������� �� ���� ��+����� �
������
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